EARAROBEEIERT — 2 N— IBISH —F

20195F9A8H (H) 6MELR5H

5R [oFER R (w8 | mEmml - |5 5 o s
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . LI ARER & :27. — . — IAERE  (KIR)
il lavzz—yn 3 o 1(2_7)9 3-3 38.8 1 (4_637) 'uJ\_F%
L:ANT7z—"9) B:42v15 BRT7—LI
= = BERRE : = - FEZE (KR
ol7]7 Yy ATFATS % 3 5&4_0 1.(279).1 2-2 40.4 5 (4—066) et
LXK hO7 BHYALUXTE-N pu e}
S ; [ B3 | SIEKE 1:29.2 1-1 40.7| - 2 492 | SBAEER (KiR)
36| NTHI LA A 54.0 (7€) s | A
R:jr—3)7> B:¥b/O-bevT FHBESE
S 4 3 | $AKHA 1:30.5 5-7 40.7| - 3 460 | HRERE= (EEFE)
s o | F1REZ—2—H— 56.0 (8) (-q) | BETEE
R:viNyBgLhTr BYINY—H— H—L— - JvX> - T7—LARS
IS5_4 o3 | AHIBE 1:30.6 5-5 40.8| — 4 469 | RIIRE (KiR)
5 5/I7—70 56.0 (5€) (-q) | EHIRE
R:g=/F¥LLy b B:ZTAXIZIN AO4E
= = s 3 | AtFE :30.6 7-6 40.4 | — 7 404 | WERAD (BER)
6 N 4 FTLTFIAT 54.0 (NF) (1) AOHA
b=tk LERY B:FLSTTIN—T WSS
R o= s BARA : - - FELS= (M
N B = i 3 RaR 1.(371>.7 4-4 42.4 6 ;1;2) /J\%%K
LT IFUFY BHITIAL AR Ak
® I —F—EBIERL
13=7r=
230—7F—
Jol=5r= 6,7,1,3,(2,5) ,4
40—+ — 6,7,1,3,5,4,2
[ N3
BB 1 100M 714K 1-7 360M B = 1-7 1,090 3EHE 1-6-7 420M
8 B 1 100M 1-6 110H B H 1-7 1,820/ K31 1-7-6 3,680
7 640M 6-7 430

ABICOVWTRDTEEERROODE. TR LIV,




